
Hilos <= 6.0
samples = 18

value = [1, 11, 6]
class = Estación de Trabajo

Nucleos <= 7.0
samples = 8

value = [0, 2, 6]
class = Basico

True

Frecuencia <= 4100.0
samples = 10

value = [1, 9, 0]
class = Estación de Trabajo

False

samples = 6
value = [0, 0, 6]
class = Basico

samples = 2
value = [0, 2, 0]

class = Estación de Trabajo

samples = 7
value = [0, 7, 0]

class = Estación de Trabajo

Nucleos <= 6.0
samples = 3

value = [1, 2, 0]
class = Estación de Trabajo

samples = 1
value = [1, 0, 0]

class = Entusiasta

samples = 2
value = [0, 2, 0]

class = Estación de Trabajo


